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(4)
for learning does NOT involve :

(1) Providing all learners alternatives for demonstrating what the learners know.
(2) Tapping into all learners’ interests and nffermg challenges accordingly.

(3) Practicing forms of labelling and categnnfahon of learners.

(4) Giving all learners various ways of acqulrmg uﬁnrmﬁon and knnwledge
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2. Universal design

3. Which of the following are effective strategies to teach new concepts ?

(i) Presenting examples
(i) Presenting non-examples
(iti) Promoting thinking about relationships amongst concepts.

(iv) Giving a definition and encouraging students f.a rote memorize it.

(1) (i), (i) (2) (), (ii), (iii) (3)= [1!1] (iv), (1) (4) (@), (i)
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g the relationshi =
conceptualized language as a/an :P between language and thinking process, Lev Vygotsky

(1) form of egocentric speech used to only. fulfill basic needs.
(2)  hinderance to the development of cug-_ljﬁj.re abilities.
(3) Independent domain which is not related to cognition.

(4) cultural tool which facilitates cognition i multiple ways.
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5. While there exists a possibility of intra-group individual differences, yet most students with
Autism : Fe

(1) demonstrate advanced communication-skills.

(2) express strict adherence to routine nr':sfgpa

(3) perform superior skills of inlaginaﬁvé:_r_it_iij'.

(4) acquire advanced socio-emotional recjpmmty
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6. As per Jean Piaget's theory of Cognitive ]E)?T,relgpmt b il
(1) Learning experiences depend on chﬂdre_g § cm.rent level of cogmjl_we ctioning.
(2) Memorization should be prioritized w{-:;r_ieammE through Experfence.
(3) Previous knowledge doesn’t play an}t._fﬂlie in the process r:-.f karm_rtg' L
(4) Biological factors such as maturation gﬂmt play any role in cognitive developmen
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7. While engaging students who are visually challenged, teachers should use which

(1) Braille, is an auditory system.
(2) Frequency modulated transmission devices; are a tactile system.

(3) Frequency modulated transmission devices; ‘are an auditory system.

(4) Braille, is a tactile system. )
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8. Fiza analyzes that she has more problems in learning topic X than in learning topic Z because she
is interested in topic Z and is paying focused attention to it. Which of the following construct
describes Fiza's abilities to analyze her thinking ?

(1) Memory (2) Cognition
(3) Cognitive conflict (4) Metacognition
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9. Howard Gardner’s theory of multiple intelligence proposes that :
(1) Intelligence is primarily inherited. 1 £33
(2) Intelligence can be measured accurately and predicated precisely.
(3) Intelligence can successfully predict academic success.
(4) Intelligences change over time. a
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(2) Childr
€n are bum in 5
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their deve]_npment_ clal, cultural, economic context and this background influences

(3) Children are 4 distine

as adults’ rather thantlli&.—stagﬂ that hold impi::;tﬁnce because of “what they would become

what they are as children’,
: | en’,
(4)  Children are naturally ‘pood’ and society corrupts them.
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Assertion (A) : Creating an environment of fear and stress keeps students ‘on their’ toes and
facilitates meaningful learning,

Reason (R) : Learning is governed only by exh-i.q.-;ia;:_'factors.

Choose the correct option. _

(1) Both (A) and (R) are true but (R) is not the corre& explanation of (A).

(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).
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le of ‘class inclusion’ : ) 2 | ot
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Reason (R) : Understanding ho¥ emotions affect memory anl
regulated learning.

Choose the correct Dpt’mn.

as a subset of another

ning can lead to self-

(1) Both (A) and (R) are true but {R] 15 not the correct explanatiun of (A)-

(2) (A)is true but (R) is false. T
3) Both (A) and (R) are false. = ; .
{{-1}) Both (A) and (R) are tru€ and(R]):18 the correct explanation of (A)-
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In which of the following method

(1) Receptive learning {i}‘"'f_f:‘ﬁxpository teaching

(3) Reciprocal teaching ()~ Conditioned learning
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tga;H_er and student interchange their roles ?

interests, attitudes, skills and personality traits th
¢ 4 ata cul : :
for specific gender are referred to as ture considers appropriate

and are
(1) Gender roles; genetically determined

(2) Gender identity; culturally defined

(3) Gender identity; genetically determined
(4) Gender roles; culturally defined -,
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(1) an individya] activity
(2)  a unifieqd Process
(3) effective adoption to
th

(4)  a collaborative Process L Pmces{.‘i i
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16. Following Lev Vygotsky’s ideas, a teacher should :

(1)
()
(3)
(4)

disseminate the knowledge to be memorized by the students.
encourage students to compete with each other.

practice reciprocal teaching with her students.
discourage the use of cultural tools by stude:nt;
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Which of the following is an example of a question that promotes analytical thinking ?
1 (&)

17. ‘
1) Which countries were directly involved in the World War I1 ?
EE; Which factors contributed to the outbreak of anld War I ?
(3) Who was the leader of Germany during WDIId:War I ?
: i 1d War Il end ? e
4) In which year did Wor 5 ,‘
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Assertion (A) :

Each chilg
Reason (R): d finds opportunjt:
: ildk : PPOrtunities to play, experiment RS
Choose the correct Dptic?: d is a universal CUI'LstmcI:, USSR IRTaSomR Wl osic

(1)  Both (A) -
(A) is true byt (R) is false but (R) is not the correct explanation of (A).

AR (A) - O ue and (R) is the correct-explanation of (A).
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Y;:lu are a teacher who wants to encourage your students to think critically and creatively. Which
of the fDHD‘W}I'Lg strategies is most likely to foster this type of thinking ?

(1) P‘jﬂ"f‘d-mg students with open-ended questions to come up with their own solutions.

(2) Giving students multiple-choice tests to assess their knowledge.

(3) Lecturing on the topic and providing students with detailed notes.

(4) Assigning a project in which students must mémorize and present information on a topic.
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Assertion (A) : Inan inclusive classroom, all curriculum adaptations should be directed to lower

the educational standards for ‘Special children’.

Reason (R) : 'Special children’ do not have any potential for learning in mainstream classroom.

ect O tion. ¢
ﬁl;onsguﬁe{:;r:nd (Plj] are true but (R) is not the correct explanation of (4).

(2) {A}istruﬁt{%}isf?ﬁ; ;
(3) Both (A) 2 tate and (R) is the cofrect explanation of (A).
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Which of the following statements about Lawrence Kohlberg's theory is correct ?
(1) Ttis based on the study done through experimental methods.

(2) It presents conflicting situations to children.

(3) It takes into account effects of culture and gender on mu
(4) It does not specify exact stages for progression of m
aﬁﬂﬁmﬁimﬁﬁ?aﬁﬁﬁt{ﬁfﬁﬂﬁﬁaﬁ?ma;mﬂﬁ%?
(1) v e fafit g o T ST W S #

o [ (TN 12 F

yral reasoning.

oral development in children.

(2) ﬂaaﬁaﬁgﬁwﬁuﬁﬁwm%n

-

@) g% Ifaw 7% WA iy St F WWE H A @ e

e

(4) wﬁﬁﬁmmﬁm%mmﬁﬁ%ﬁm%n

A teacher wants to enable meaningful and analytical learning in her class by providing opportunities
for students to connect their prior knowledge to new concepts. Which of the following teaching
strategies would be most effective ?

(1) Assign students to read the textbook chapter and answer questions at the end.

(2) Ask students to share their oW experiences related to the new material and then connect
them to the topic. o

3) Providing students with a step-by-step guide on how to complete a task related to the new

material.
(4) Lecturing on new material andpmwdmg students with a list of key terms to memorize.
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Changes in emotion, self-perception and interpersonal relationships with families, peers and friends

are studied under __ domain of development,

(1) Cognitive (2) Linguistic (3) Psycho-social (4) FPhysical

G H AW & qed e, - wen qun afEn, wife 3 <redil F WY
wiavil 3 uftada &1 s S )

(1) WEAE (2) @) wAh-wmfwEw  (4)  shfes




20.

21.

4) Gwe W#ﬁwmg@mmmmwmﬁmﬁ%mw
-gmﬁ'ﬂiliiﬁ'
?&“ﬁﬂmm%? %.,rfaq'ar:%‘
(1) Eﬁ“‘*; @%mg@mﬁaﬁaﬂ?mﬁmmmmm
B o 2 &
A
(3) : f
@ ST : F
9
i
p-11 IIIIIII1IIIII'|IIIHI|

Assertion (A) : Ag Compared to bn

‘n irls have an innate tendency to be affected more by social
Reason (R) :

Girl
S are gt_[‘IEhLﬂ"\- more sensitive and emotionally weaker than boys, making it
more llkehr for them

C to conform to societal expectations.
hoose the correct option .

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2)  (A) is true but (R) is false. )

(3)  Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct: explanaﬂﬂn of (A).
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= ‘her do to
1d Kakuli is struggling with a difmuit ‘math problem. What can her teacher
Ten year O
enha}lr*uce her pmblem~sulvmg skills 7

Tell her to skip the problem and move on to the next one
(1) ell he

(2)

(3) Give cevere punishment §0 that it i

her to keep trying and offer scaffolding when needed
il s not repeated in future

her the solution 10 the problem
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Which of the following
(1), A student studies hard to get .
(2) A student studies hard to learn as much as possible

(3) A student stu dies hard to further her own growth.
4) A student studies hard to e a deep understanding of a topic.
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ple of a performance goal orientation ?
a good grade and be better than others.
. from the teacher.

is an exam
12.

achiev
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13.  Which of the following is an example of assessment for student’s learning ?
(1) A quiz and brainstorming at the beginning of class to check for prior knowledge.
(2) A standardized test used to compare students across the country.
(3) A rubric given to students at the beginning of a project, outlining what they need to do to

achieve a certain grade. = .
(4) A final exam that covers all the material learned throughout the term.
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14. Which of the following statement aptly describes the purpose of a diagnostic assessment ?

1 To identify the attitud ; . : A
(1) o nezg;_ e patterns of students and design a career guidance programme as per

(2) To provide feedback to the teacher about their teaching methods.

(3) To identify the areas where students may need additional .suppnrt or instruction
(4) To give students the cuppnrhmity__-_tj_a critically assess the work of their peers |
frefafad 3 & F7-91 %99 0 e F 2w 1 SugE av T i .

(1) feamfeda % sifusfa wey 21 veam Fon st s sravamms
STAFT AT HT & IFER UF AT R

(2)  Foreert w01 w7 faremn fafiri % i 8§ wfrgfe wem @)
3) m%ﬁﬁwwmaﬁﬁuﬁﬁﬁaﬁﬁmmmﬁhﬁwﬁm%l
(4) W%HWW%WWWWWWWWM|

P-IL WU




the teacher asks her to answer ©OF golve the

. ]2-year Amana gets scared e
fears that the teacheT will scold
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Assertion { )  -iths problem on the plackboard pecause she

her and she would be
fected.

o and anxious their learning 15 dversely af

Reason (R) : When students foel unsaf

Choose the correct Dption.

(1) Both (A) and (R) are true but (R).

is not the correct explanation of (A).

(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false. _
(4) Both (A) and (R) are frue and
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Which of the following statements about Lawrence Kohlberg's theory is correct ?
(1) Ttis based on the study done through experimental methods.

(2) It presents conflicting situations to children.

(3) It takes into account effects of culture and gender on mu
(4) It does not specify exact stages for progression of m
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A teacher wants to enable meaningful and analytical learning in her class by providing opportunities
for students to connect their prior knowledge to new concepts. Which of the following teaching
strategies would be most effective ?

(1) Assign students to read the textbook chapter and answer questions at the end.

(2) Ask students to share their oW experiences related to the new material and then connect
them to the topic. o

3) Providing students with a step-by-step guide on how to complete a task related to the new

material.
(4) Lecturing on new material andpmwdmg students with a list of key terms to memorize.

@Wmmﬁﬁmt@m@!ﬁi@aﬂﬁsﬁsﬁ%mmﬁaﬂwﬁmﬁmﬁa
Wmﬁmmmﬁii-fﬁmﬁﬂ#ﬁmwmwﬂmﬁﬂﬁ?

(1) Wﬁﬁw%w}mﬁﬂnmﬁm#mﬁ%mm|

(2 S & S AT A e e @ % e G H % fon e sl fe 3= fawm 9 S
(3) S F1 T G 4 Hatad FE QU S & i & i H -at-w HEiefeR SEE S |
(4) %Mmmﬁﬁﬁﬁ%ﬁ%hmﬂﬂﬁ@mm|

Changes in emotion, self-perception and interpersonal relationships with families, peers and friends

are studied under __ domain of development,

(1) Cognitive (2) Linguistic (3) Psycho-social (4) FPhysical

G H AW & qed e, - wen qun afEn, wife 3 <redil F WY
wiavil 3 uftada &1 s S )

(1) WEAE (2) @) wAh-wmfwEw  (4)  shfes




20.

21.

4) Gwe W#ﬁwmg@mmmmwmﬁmﬁ%mw
-gmﬁ'ﬂiliiﬁ'
?&“ﬁﬂmm%? %.,rfaq'ar:%‘
(1) Eﬁ“‘*; @%mg@mﬁaﬁaﬂ?mﬁmmmmm
B o 2 &
A
(3) : f
@ ST : F
9
i
p-11 IIIIIII1IIIII'|IIIHI|

Assertion (A) : Ag Compared to bn

‘n irls have an innate tendency to be affected more by social
Reason (R) :

Girl
S are gt_[‘IEhLﬂ"\- more sensitive and emotionally weaker than boys, making it
more llkehr for them

C to conform to societal expectations.
hoose the correct option .

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2)  (A) is true but (R) is false. )

(3)  Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct: explanaﬂﬂn of (A).

AHET (A) Hﬁﬁwﬁmﬁwﬁawwﬁ*w‘iﬁﬁummﬁ
S Weta gt &)

RIUT (R) : aghﬁmﬁfwwﬁaﬁaﬁwﬁﬂﬁﬁﬂaa *_“Ef'ﬁ? 3 .
1 % e v e o e 5 TS O ) S o @ &)

e fashed =1 |

(1) (A}ﬁﬂ{ma‘lﬁ’fn@%ﬁﬁﬁmﬁﬁmmﬁm@lﬁm%
2) (A) F& ¥ afF (R) T T '
3)  (A) Sl (R) B e € e
(4) (A)ahtn}muﬂ%ammﬁ{a}aﬁwmm%1

= ‘her do to
1d Kakuli is struggling with a difmuit ‘math problem. What can her teacher
Ten year O
enha}lr*uce her pmblem~sulvmg skills 7

Tell her to skip the problem and move on to the next one
(1) ell he

(2)

(3) Give cevere punishment §0 that it i

her to keep trying and offer scaffolding when needed
il s not repeated in future

her the solution 10 the problem

14/12/2024 12:14
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Which of the following
(1), A student studies hard to get .
(2) A student studies hard to learn as much as possible

(3) A student stu dies hard to further her own growth.
4) A student studies hard to e a deep understanding of a topic.

foe F @ B W YR G =T %1 U JETR & 7

} meﬁgwﬁﬁn@ﬁﬁﬂmﬁ%%mﬁmm%

2) ﬁ@ﬁﬁiwﬁaﬁﬁﬂaﬁﬁ?ﬁaﬁ#ﬁ{QWa:wm%l

() T o S ) ST A 3 fere e €

(4 wwﬁfﬁrfﬂﬁuﬁuﬁwgﬁamﬁamm%?mm%i

ple of a performance goal orientation ?
a good grade and be better than others.
. from the teacher.

is an exam
12.

achiev

—_—
-

13.  Which of the following is an example of assessment for student’s learning ?
(1) A quiz and brainstorming at the beginning of class to check for prior knowledge.
(2) A standardized test used to compare students across the country.
(3) A rubric given to students at the beginning of a project, outlining what they need to do to

achieve a certain grade. = .
(4) A final exam that covers all the material learned throughout the term.

i § § w19 faenfefi § dias ¥ fore Ae %1 T See B 2

@) T I v o ) gee H o vl i fem-He |

2) %ﬂﬂ?%ﬁﬂﬁﬁww%mﬁﬁﬁmﬂﬁﬁwr

(3) T TR 3 ywea § o 1 e T s, 7€ wEitEd w5 9w ffed i 9w
w0 F fau A s AfeTl

(4) e sife T forad 9w H e et w2 d

14. Which of the following statement aptly describes the purpose of a diagnostic assessment ?

1 To identify the attitud ; . : A
(1) o nezg;_ e patterns of students and design a career guidance programme as per

(2) To provide feedback to the teacher about their teaching methods.

(3) To identify the areas where students may need additional .suppnrt or instruction
(4) To give students the cuppnrhmity__-_tj_a critically assess the work of their peers |
frefafad 3 & F7-91 %99 0 e F 2w 1 SugE av T i .

(1) feamfeda % sifusfa wey 21 veam Fon st s sravamms
STAFT AT HT & IFER UF AT R

(2)  Foreert w01 w7 faremn fafiri % i 8§ wfrgfe wem @)
3) m%ﬁﬁwwmaﬁﬁuﬁﬁﬁaﬁﬁmmmﬁhﬁwﬁm%l
(4) W%HWW%WWWWWWWWM|

P-IL WU




IMPORTANT | ewaqel

Candidates have to do questions 31 to 90 EITHER from Part - 11 (Mathema

Part - III (Social Studies / Social Science).
gitenteiar a6t w9 31 |90 AT &t W - 1 ( aifora 7 F ) ar et - 1 ( QAT STEa [ qifse

fa@r ) @ &3+ &1

tics and Science) OR from

PART - 11 /4T - 1l
MATHEMATICS AND SCIENCE / 9 fa=r
Direction : Answer the following questions by selecting flie-correct/most approp
frder : fA=falad M'%aﬁré:?aw%mﬁg?maﬁaﬂgﬁﬁw?ﬁm
3 40,059 — 0.79 is equal to :

riate options.

31. The value of 31096+ (2704 +2) +0.6738 +0.6
_0.79 %[ T AT @

11096 42704 + 2) +0.6738 +0.63 +0.059
23.5728 (2) 24.6728 (3) 24.5728 (4) 23.6728

Following data shows the number of wickets taken by a player in last 11 matches played by ? 3

him/her :
O .

1'.--[.]' 4—{}%1%&,41 Ex ]
W hat is the difference between the mean and mgd;?: of the above data 7

L&q%ﬂlLLlil | ?ﬁ |:3528
T AR AE? /ﬂﬁ"l;,/w~
05126
(4)

| -33 The distance
covered (in metres) by a wheel of radius 25 cm in 350 rounds is (use w= =)

1 25
c e % T G 850 T A 3 7 0 S g (st ) & (o= - o ST FY

(1) 550 o
3 (3) “1100 (4) 275




_ap 4+ SA g
parallel lines by 2 transversal ar,'

x— 6[]“) %1 GER (4.17 +3[}"]

34. The tw tw
J O Corre i
-Spﬂndmg angles formed by the intersection of two

(31' —20° o
) and (5x— 60 )- Then, the value of (4x +30°) is :

=it s .
T N TR el ——s 31 (5
5 e 20°
ALY - & £ a?l 2 wma wo (32 —20)
1 ° —— 90°
1) 110 130° Ty 150° (4)
ek Yot : llowing is least useful?
35.  For teaching addition of integers at the uppérprimary stag< wl:uCh oLt
(1) use of lift (2);' ~fase of number line
(3) use of chart paper (4) “use of stairs 297
Ieg WU T 9 Uil w1 S JeH 6 ag i & 3 o S A A

1) o= = ST

(3) T YT H ST
. such that OC 1 OD,

36. O is a point on line AB. Rays OC and OD are dr:lu;n on the same side of AB su
= — ‘ BOD 1 u O . %
/AOC=x and ZBOD=3x. Then, £ s eq ﬁIODWWﬁ“ﬁ%ﬁOCLOD?

war AB W e OEﬁH%IAB%’WﬁmﬁWm

/AOC=x S /BOD=3x €1 d49, 430Da@$§: c
el 10 £ 1

(1) 45° ()X 60° O (3) 6?5 5
::HT::E I TN 1:
_‘_— . ' . ?':t'h' ;'l __ ‘ .i._.

(1) Summative Assessment helps to knot.to what extent the instructional objectives have been [N %."'

e

achieved while teaching a concept. =
(2) “Assessment for learning’ is a process with no scope of giving feedback.
(3) Formative Assessment is used after the course completion to assign the grades.
(4) Assessment as learning generates opportunities for self-assessment and peer assessment.

N e  ferg et 8 - e W 27 iy 4
. ' (1) e S 9 S | HEE 1 ¢ (o6 Rl ST o e & S e sty S 17 ,"""3",.

ge d% I a1 7 2
(2) ‘eftrm F fau srrer’ T TE wiwa @ f sfaufe yen w6 R stamr =@ A
(3) g % &G I <A & el Tl ST i ST f3hell S &)
(4) %wﬁwfﬁmﬁ—qﬂméfaﬁww%mﬁmmmﬁl

SPACE FOR ROUGH WORK / 1% %4 % ferm .

a ?;m& C(%‘){j '1"’0) + (S 3—*(;“03 — 1
(N | i /0
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parallel lines by 2 transversal ar,'

x— 6[]“) %1 GER (4.17 +3[}"]

34. The tw tw
J O Corre i
-Spﬂndmg angles formed by the intersection of two

(31' —20° o
) and (5x— 60 )- Then, the value of (4x +30°) is :

=it s .
T N TR el ——s 31 (5
5 e 20°
ALY - & £ a?l 2 wma wo (32 —20)
1 ° —— 90°
1) 110 130° Ty 150° (4)
ek Yot : llowing is least useful?
35.  For teaching addition of integers at the uppérprimary stag< wl:uCh oLt
(1) use of lift (2);' ~fase of number line
(3) use of chart paper (4) “use of stairs 297
Ieg WU T 9 Uil w1 S JeH 6 ag i & 3 o S A A

1) o= = ST

(3) T YT H ST
. such that OC 1 OD,

36. O is a point on line AB. Rays OC and OD are dr:lu;n on the same side of AB su
= — ‘ BOD 1 u O . %
/AOC=x and ZBOD=3x. Then, £ s eq ﬁIODWWﬁ“ﬁ%ﬁOCLOD?

war AB W e OEﬁH%IAB%’WﬁmﬁWm

/AOC=x S /BOD=3x €1 d49, 430Da@$§: c
el 10 £ 1

(1) 45° ()X 60° O (3) 6?5 5
::HT::E I TN 1:
_‘_— . ' . ?':t'h' ;'l __ ‘ .i._.

(1) Summative Assessment helps to knot.to what extent the instructional objectives have been [N %."'

e

achieved while teaching a concept. =
(2) “Assessment for learning’ is a process with no scope of giving feedback.
(3) Formative Assessment is used after the course completion to assign the grades.
(4) Assessment as learning generates opportunities for self-assessment and peer assessment.

N e  ferg et 8 - e W 27 iy 4
. ' (1) e S 9 S | HEE 1 ¢ (o6 Rl ST o e & S e sty S 17 ,"""3",.

ge d% I a1 7 2
(2) ‘eftrm F fau srrer’ T TE wiwa @ f sfaufe yen w6 R stamr =@ A
(3) g % &G I <A & el Tl ST i ST f3hell S &)
(4) %wﬁwfﬁmﬁ—qﬂméfaﬁww%mﬁmmmﬁl

SPACE FOR ROUGH WORK / 1% %4 % ferm .
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38 A
- . S Sum Of € Q
| I b h“““ l‘k'l\-.g‘r[]"[l‘ﬁ 1T l.I‘:.““ .lt ";13,,1 :
/9% E"I.'..l: In x years at simple interest, What will be the
P.a, if interest is compounded yearly ?

aMo
ount of the SUM 1IN same time 't 200
L ey L]
X 8000 T Um0 7 0 i
| 0 TN 7 .5% F1f a8 .
R} I B g S e by T x 7§ o s X 9500 B St % 1 3t ifer a7 209 afif =
3 ol 959 ﬂ.lli-T":ﬁ:{‘i f‘al‘\‘iir-] g]‘rn '.qf,: TS mﬁa; ma V. ﬁ?ﬂ%?

| \ - 1 A4 -
()< 12144 () T 12672 (3). T 13824 (4) % 11616

39. Meenu wrote some numbers on the blackboard and arranged them in ascending order as

=040 4y Y

2 <7 <9 <12 She then multiplied each number by [- l) &0 OR8N X X
2)  Jxeo— leo XIP
Identify the correct statement regarding the above situation. TR M
Mean of the numbers will remain the same.
. geze X2E X2
7y  Ascending order will now be changed to descending order. [5oX I p
2y Number of terms in the ascending order will change. 200426 = YOUD

4y  Ascending order of numbers will still remain the same.

41 3 VR W 39 e foaad 39 9ed HW W saitdd w36 TR ffm2<7<9 <12 | W
(=11

T FaE B F —Z{ﬁwmﬁml | (Cso~ 8e08XT SRt
ia sftfefs & frefafas w9+ § 4 wd %99 weafi) g6 ¢ ks X
¥ < L SR
(1) == % W |9 2 ﬁl >
. 2
b ) 08 ¥y gzE Fv wEnE w6 A )
."r': __,_,-*"'"
; mznmﬁmwﬁaﬁuﬁzﬁm "
> S SPACE FOR ROUGH WORK / 1% @4 & fere sTe
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o+ 3490 b ‘e /Q %% 36
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e ety
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mul 9 ¥ b | l..l t'.'"{ Illu{ al.

+doa + 3 -i-.[-' ""H..i'i‘li_l[ orp 15 .
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L teacher-centred methdd of b hiﬁp’, mathemati s

Fleuristie '\!rlh-'.u.i

dethod (4)  Problem soly ing Method

1 e =1 v foss hed 1aly 2
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The cost price of '
price of an article is ¥ 750. It is sold for ¥ 608 by giving 24% discount on its marked price:

Had it bee
< e - g . :
en sold on its marked price, then what would have been the profit percent 2

aﬁ%‘W‘Eq??5{1%tsﬁmﬁmv@mm%aﬁqﬁm%nsﬁaﬂwmﬁwmﬁﬁ A

EASES :ﬁi‘%ﬁﬂjﬂméﬁtm,aﬁmﬁﬂwﬁwwm? s 189
> | éﬂ%

Q) 6% @) 5=% @) 63 % @) 2% >
; -

2 '1?},"1'4,; .., 70, 71 (one number on one card) are kept in a box and then
Bt bability that the card drawn

a4 Cards bearing numbers 1
box without looking into it. What is the pro

a card is drawn from the
has the number which is not a prime ?

TFE 12, 13,14, ...,?ﬂ,ﬂm@’fmmmwf@&%’ﬁwﬁwﬁ% (T HTS T TH HE&A) o1 TeL =9
i?:a‘ﬁi%;fammﬁ,ﬁmﬁﬁmm%tquﬁm%%ﬁwémmmwi@m%

“).,1{ T”L‘h% [ﬁ\%{j

v @ > @ = @
59 4 > 4 22, 336 I
Y2 UM (Ab s s ,
s ) _7 _1 S, S Kb KK b ﬂ‘\
= 5. Which of the following rational numbers lie between -ﬁ and -4— ? 62 i BOGAC bR 17 Ml |
\ l 1 &5
fer § A FE-d ufE o =7 ] 3 af= o foord & : W
1 -H-@;m-q S o L - - 2 g ?:I
1| Wi 4 ' S% Z ¢
| Prh.s
u, LRl S, B 3 Bil2
2 257270 222 22
; 0) 53—2;—3 =90 -1 35‘“ U] L
8 3 )5 "y ST i BEMGRES DA LI
———a il L ~c o
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274y 1S divisibléfﬁ;number 88. Then, the value of (2x+3y) is :

ine-digi 5659

A nine-digit number | |
3 s S 56519274y, e 88 ﬁﬂl’&q%! T, (2x+3y) FAAE :

9 ~G) 22 4) 26

(@) .25 (2) 24 sl

i, (8

mathematics ?
(a) Ability tous
(b) Ability o memorize all the formulae given in textbook i
(¢) Ability to apply mathematical CDHCép{E%Q solve problems related to daily life situations
(@) Ability to score full marks in mthenijzgjgs
Choose the correct option. ¢ E

o abstractions to perceive relationships

V) @and(d)  (2) (b), (c)and (A X(B) (b)and (d) (4) (a) and ()

i

T
TRl Y qﬁ]ﬁ H R ST T e 2 e




= In 2 pentagon ABCDE, £A=(2x+9"), ZBw(2x+1), £C=(22=1%), £D=(21+5°) and
LE=(2x - 4§ Then, value of {;; +10%) 18
- o = < :ﬂ?I
f‘m ‘-17:1\{,*3 \Ekl‘ﬁr 'q_. .:-.‘x____{:x‘{_.go)’ £B=[21+1¢)’ éCz(zx"'l )p L-’D (21 +5)
CE=(2x—4) AT +10°) ¥ 9[ ¥

K_W/&ﬁ @ 18 A (@) 124° 4) 114°

uires mathematics
50. \1 any occupations such as accountancy, banking, shop-keeping, talff}fl;lig t‘-;-':c TEECS
rectly or indirectly. This is an explanatmn of value of Mathema

(1 Cultural (2) Utilitarian (3) Professional (4) Disciplinary
awa 2 = 91 = sawrs (fema-feam), 9f6, FHMER, e 1 %W ot | wead A1 T w9
& R = SavTEa 89 819 e T H S R

(1) TFlas (2) SwAfEER W (4) TEaTETeEs

€

51. Let A = 32—81+11,B = —222+12r,C = 4247 and D = 22— x—~11.
if (A+B+C)-D = pr’+qx+r, thentheivalue of (p+q +71) is :
T = A = 322-8x+11.B = —Zrsz?_:

F(A+B+O)~D = prligr+

C=-42+47 3D = 2-x-11 %
'*aﬁ’?“‘lﬂ)'ﬁ“ﬁ!':
30 ® T e @ 27

L{?ﬂ*ﬂmﬂc--{cm ZBCA“)[PJABC*&{]" QI
£

ACB‘]”{.’.AK_ 256 A-C m:=4cm
() AB-SmB(-émdABC:ISG" ZBAC = 250y T k\ Po 8 A

i
-3MK‘-4mAL=7mK \ |

L)L'l.. 2x-1))




1itv, measurement abjj;,
r ing ability, measurcme 1h
Which of the following is used to record students’ problem solving

and experimentation ability ?

(1)  Report Card (2) Anecdotal Record

i d
(3) Teacher Diary (4) ngmulanve Recor

' AR 3
Wmaﬁﬁﬁwwmﬁﬁﬁm—wﬁm,wﬁw,w ‘
<1 TLhTE T % fou fofan st 82

1) R = (@) ST
3) T 4) H%Rﬂ e

54. PQRS is a parallelogram in which PQ = (4x+1) em, QR =26 ¢cm, RS=25 cm and PS=3y—1) n
- Then, the value of (3x +2y) (in c¢m) is :

PQRS T THIGLAGHN ¢, 8 PQ = (4v +1) em, QR = 26 cm, RS=25 cm 3:?RPS=(3y—1) cm el @
M (cm H) 7 ¢

55. The distance between the para]ie]
CD=24 cm and AD=BC=13 ¢y,




N1tu_'1§ always confused in 1dentify
by giving one simp
Enlargement.

1 ing the transformations. Her mathematics teacher helped her
€ word for each transformation namely : Reflection, Rotation, Translation and

Which of the following represents the correct’sequence of meaning of each transformation as
given above ? 5

(1) FElip, Turn, Slide and Bigger Figure
(2) Slide, Flip,. Turn and Bigger Figure

(3) Flip, Slide, Turn and Bigger Figure

(4) Turn, Slide, Flip and Bigger Figure

i, T SREH (ZFEFERE) F1 Ted i A SaE § T § S E w1 e 3 5 e
e % T O WYt e ST ST Haw ki SR R ¢ aier, wfafer, Tewm, wiiE SR s

- e
F | =

5

Py R

A

' & ;acn few T R 9fEd % et 1 Frfafea o @f -9 Wt H frefta e 2

& .
e

} (1) e, YO, formem ok ae s

21



58. A solid cube of side 12 cm is cut into small solid cubes of side 4 cm each. What wjj] bes
between the total surface area of the original cube and the new total surface 4y, o
cubes so formed ?

(1) New total surface area will be twice the 'bfiginal total surface area.

(2) New total surface area will be 3 of the.ﬁriginal total surface area.

=
. 4
-

| (3) New total surface area will be thrice the original total surface area.

. 1
(4) New total surface area will be > of the original total surface area,

i %m Bl S ﬂEb'ET AT %’ S & Ui i YT 4 cm 2| AR T'*"*':i y
%Wmﬁmmwwmam? |

N oy

g WWWWW?H%@WEH
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99,

On the basis of the information given in the statement, which of the suggested course of action
logically follows ?
Statement : Anamika does conceptual error while solving problems on mensuration.
Course of Action : !
(I) Teacher gives a lot of hands-on and visual practlce to Anamika.
(I1) Teacher provides the scope of discussion while gwmg open-ended questions.

Choose the correct option.

(1) Only course of action (IT)
(2) Neither course of action (I) nor course of acthn (11)

(3) Both course of action (I) and (II)

(4) Only course of action (I)
o 1§ 1 T SHBN & AR T, ﬁ??ﬁ:ﬁéﬂé%ﬁaﬁmﬁamﬁa@waﬂ?ﬁ%?

FI SaAfafa 1 TEEel ) T6 FA 9 SHIHE] SFFERITHS Ffe Hl 2

HEATS
() Tafe S F Fgd TR SAEER SR G S F % fo < ¥ %
(n) e e ot aer W9 S == 6 ST FEH HEd € ?

<@ g il {j" )
(1) e e (I0) s
@ ARFREE@RAAFEE@ o (O
), it o1 3 O/ P %
(4) %aa FETE (1) L - S \
Sy %
60. If x=K, is the solution of the equation : i ,E’}r \ Al »((?’
=4, 50y 11k+18 S =
Thl“'é'—+x then what is the value of k= 12 L\*"“;\ =
g X=k, Heftepror % - X
-{:-3..._1__5"1' 11k+18 Wmmj f\\ — )‘:L)/,l
7oy -*-3—-+x F1 2 T, T-ﬁ 1 <hl . %
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._ - corre g g/
Direction : Answer the following quest j@ﬂ'ﬂ"’ imang,
Frdor:  freiffas vl & 900 a1 9 (0 98

| ! . nof bile juice in human g
ding the func
. : re '
Which of the following statements is/are tride g

".‘i?'n'Hlt‘l‘H ? o E E swmﬂdl El].ka]ine'-
(A) It makes the partly digc-sted fﬂ“d'f:c?ﬂ i

(B) It helps in digestion of fats. (0 . A) and (B) are true

(1)  (A) is false and (B) is true t:@ ?:;:hi:ule and (B) 8 false

(3) Both (A) and (B) are false f@ ( N 2 W/ﬂ oA ﬂﬁ%/? ?
mwwaaﬁmma:wwﬁqﬁsﬁﬁwﬁ- <

(A) T SHRE W I Y e i-’f”ﬁx‘fﬁ"‘ﬁ I

(B) % 59 % WA § e H € ~

(1) (A) e & 79 (B) 9t ¥ ; (A) sl (B) Sl el €

(3) (A) 3 (B) ZFi e € @) (A)FE ¥ T (B) T €

Which of the following reprﬁents-:conﬁg}'ﬁt&mg set in the context of aqu
Adaptation - Parpose
(a) Large circular leaves (i) 1 helpful in protecting against decay
(b) Waxy coating (it) { helpful in offering resistance to water curren i<
(c) Ste‘;mh l;ave large tunnels  (ii) | helpful in providing buoyancy
and holes ' ey

(d) Ribbon like leaves (iv) :I;t:é}pful in staying afl
(1) (@) - (i), (b) - (i), (c) - (i), (d) - (iv) A gy
(2 (a) - (i), (b) - (iv), (c) - (iii), (d) - (i)
(%) (a) - (i), (b) - (i), (c) - (tv), (d) - (i)
(4) | (a) - (iii), (b) - (iv), (c) - (i), (d) - (i)
Feafeten 4 4 # a1 swefrg gy (A1) 3 waf

atic plants °

ity

] _" vlr..

“ﬁ@“"“ﬂm#ﬁwmm

A4t 3ypeoy
(©) Al (¥vil) 7 geq
01 4t foz o # iy
(d) W13 (fram) d7 gof (iv) %(ﬂ?ﬁ) e
(1) (@) - (i), (b) - (iii), (€) = (i), (d) - (iv) .- |
gj/af(_m, (b) - (iv), (c) - (i), (d) - (3y >
(4)  (a) - (iii), (b) - (iv), fi‘} -{Ig}'e {:fJJ{(I:)}
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Assertion (A) : Nichrome is used as a heating element in de

vices like electric toaster and electric

geyser.

Reason (R) - Nichrome has high melting point and low resistivity.

(1) Both (A) and (R) are true but (R) is not corret explanation for (A)

(2)  (A) is true and (R) is false

(3) Both (A) and (R) are false |
true and (R) is correct explanation for (A)

(4) Both (A) and (R) are
3 9 7 ¥ &9 F F ¥

sREEER (A):  FEm = wE - i e TSR KA 4

=% (R) - ﬁﬁﬁmﬁwwmuﬁﬂmiﬁ?ﬁ%!
1) ws?ﬁmiﬁnﬁﬁm{m,mﬁaﬁwaﬁ%l
(2) mﬂfztmmw%u

) 2 e T

@) (A3
(A) 3 (R) 21 =@ ¥ 741 (R), (A) 7 wE =T £ |

%

i

On the basis of the following information identify the substances which give flame on burning :

Substance|  State Vapourises on burning
A Solid No
b Liqusd Yes N\
c Solid Yes
D Liquid No

(1) Aand B MC (3) Cand D (4) Aand D

Ffofias o & aman v 27 w2l %1 ear Fifse o 9o 9 saren 23 € .

b kel WA A e
B M (7#:) d |
C m 7
P | =) T
0) Askg () BaRC 3) Cca#rp 4 AshwD
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r




»in and fat metabolisT! in our body. It i

o h [ 1rﬂtEf "&I'DtL .
ater Carbohyc b v functioﬂiﬂg of this gland.

(A)  hormone regul

- .ot impacts
by (B) gland and ___(9___ in our diet iImpac
(&), (B) ©) respec 7)  Thyroxine Th}’mid, Jodine
(1) Adrenaline, Adrenal, Salts (2) pancreas, Sugar

Pitutary, Proteins (4) [nsulin,

(3) Growth hormone,

(A) WmmﬁWrWHmWWﬂ FAA e
s H o (©) guﬁﬁlﬁ:mmﬁwﬁﬁ

(A), (B), (C) 7L T

@y edEr, W (arfuaaa), @aUl (2)
) e T, i, We

VII:

hich two are bar magnets. They are asked f
be promoted through this activit

The following activity is done in the class

Students are given four iron bars out of w
~ bar magnets. Which of the following process skills can

(1) Observation, Classification, Inferring
(7 Observation, Classification, Commy_fiicatinn, Measurement
(3y Observation, Estimation, Experin‘iént?iﬁon, Controlling variables.
(4) Observation, Formulating hypothesis, Measuting
e VI 3§ fFfefas nfafay #1
[ 1 9 wE 5% QIS § 5188 S £1 9% <8 Hos i1 TewH A F forg Fo
| B § fefaten 4 8 26 {6 Sl B e s www@ g2
L T RE (ST, e, e e I R s
(2) 38 (), T Gy .
B (_%L S, WA, < 1 Frafrm e ;
}1 q‘ﬁw W' 'quq:ﬂ-

Which of the following h
(1) Projects, Portfolios
(2) Anecdotal records,

{?J JUUITI_HI “’fﬂ'jn?
(4) f

bb.

ave the most < :
0st scope for promoting Art integrated learning in Scien<

Journal writing
. Field trips

: ortfolios, Anecdotal rec rds

A w5 vy ‘ i

:El] j:'|TI=! . Umff?: AT =) g 23 & Hyre fas
’ IS (ofregrsr sif ), MEEAEE w2

;} Wﬁﬂm'q; T, sie s B
\ (3) e v, dm il g
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68. Which of the following should not be the purpose of open book assessment in Science ?
(1) To gauge conceptual understanding of learnerst
(2) To score more marks in tests ),
(3) To give opportunity to explore the book
(4) To reduce the fear of assessment in learners s 2%
Wﬁﬁ%ﬁmﬁmﬁ@wmm@jﬁmm?
(1) TR i AU §HE A
2y e ® st S
(3) TEE & ST & FTEL YGH FHA
(4) feraeAle o ST H WA T HH ST

69. Which of the following statements are true ?

(A) Crystallisation is a chemical change.

(B) Photosynthesis is a chemical change.

(C) Ripening of fruit is a physical change.

(D) Formation of curd from milk is a chemical change.

D ®ad@)° @ ®ad© @ O@O @ @andE)
frferfian 8 A FF-8 FUA T € 2 o
(A) e (FFeaer) TE THH T afEa ol 1
(B) FER-HTN T qEErT TRAd A0

\ (C) a1 T O i wiEd Q0

' safiey |

(D) 393 %A A T TErf e
n ®EO . @ @O e QO @ WE

Children of all age groups have various ideas which may be different from science concepts. Which
of the following statements are true regarding these ideas ?

(A) These ideas are usually stable

(B) They are formed due to observable phenomenon

(C) They tend to follow similar developmental pattern

(D) They are easy to modify

(E) They are often domain specific "

1) ®), ©), (D ) (A) B)C) D)

@) (A @), (©), ® @ @A) @)

et T At 37 i s, e & S fere Spreonadt i @ v €1 Bt 99w
MRS % e 3 i et € 2 o W R
(A) A yroomt B feer Bt € | N

(B) 3 e (oo aReeed & HOT A €1
(€) 2 T fompmarees Wiy e B &

(D) 3% wRer 3 feafia foran < Tl €|
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78. Whenarayof light enters from mediv™
into medium C, its speed increases: o dann
Which of the following mrm:l:.:s.lmnns__cm:»JB e Al

(1) Refractive index of A is 1658 than G |

@ Reractiee B S < mn:‘ from above information

v 1 1 . CAIIY
(3) Refractive index of & B g o
i f A IS mam:ﬁ%}aﬂ B an S &

i which a part of the stem OF & YOUNg brang

ampagaﬁon
that the branch is still attached to the Papy

79. (A) isa technique of vegelali;‘&.
of a plant is pulled and buried in moist soil such
Plant. After some time, roots ds:velég;_i:ﬁ the buried part and it grows into a new plant. __{?}___
is an example of plant usually g;roﬂ-;f_-&nmugh this technique. =
(A) and (B) respectively are : / : |
(1) Grafting, Rose (D) Budding Hydra .
(3) Layering, Jasmine—" (L) (4) Cutting, Potato
(A) i g %1 0 A Grade) &, fomd T (W) = 0 M St T () A
= e o A e () 7 fe o & = Ul AT s e () RS

| 8 TR, a3 g 2 e @ W € e e G T TR () © P AR
g1 (B) e R () % W @ T AR () S | |

]
|
]

(A) 2 (B) 79 & :

(1) I N)Q) T, T ' .

(3) A, el b (4) A, e e
80. The buoyant force on an object imrhetsbd in liquid acts in : 3

(1) Downward direction (2(2) Alldirectio
T

(3) Paralle] to liquid surface (Q 4 U .
: C U Ry
ﬁﬂ?(ﬁﬂﬁﬂﬂ}ﬁﬁﬂmﬁa%?ﬂiﬁmﬁm Lo <
(1) o s =k g horst '
(3) % goE | AW ) -
FeAnw! fagn 4
Rl LTI 30
18

g1. Assertion (A) hievement in STEN g ; 5
Reason (1K) Problem solving giratepies q._.,,jb-jrboyﬁﬁnd ?:‘Ilﬁ':rel:hiimﬂt-
l (A)anei(R) ar- Ut but (R} 15 1V& 1@#@ mAbORY 2k

(A)s true and (K- '
(3)  Both (A) and (R) are false.
(1) Both (A) and (R are trueancd (1) rret ; e
3“;"‘#'“{&1]'- SiELl (2m) |8y - Rl ST 16 -mamﬁq@ﬂﬁ?l
& (R) : ere el e i T
(1) {A}aﬁl{amﬂhiéi'% = (R), (A) @ TE FE gl
@) (A) T T (R) T & N
@ (A& (R) 2 R E
@) ()3 (R) A T8 & FR), mﬂqﬁwﬂt

g2, Which of the following statements is/are ue regarding nature of science 7
(A) Scientific ideas are not Lffected by cultural context.

(B) Thereisno single scientific ;
(1) (A)is true and (B) is false
(3) Both (A) and (B) are false

i <
(@) (A)Eialse and (B) is frue -
(5 B4 (A) and (B) are frue

i 2 2 /A o P H IS  apehed /2
(A) it fe i 1)
j@w_ﬂn e
e @ :{kﬁji@?@ﬁt
@ (&) @) TR E @ (A) 3 (@) 2 TEE
43, Which of the following statements are frue in the context of respiration in whales and
dolphins ? T

() They cannot use dissolved Oxygen——_ '
(B) They have gills. —

© Theyhnmlarggmshﬂs. oy ek
D) mq-nﬁmmﬁpmmewatermﬁﬁéé ©Breathe—

@ WOoo @ 600 @A), B, @ @ @), @, ©
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il .!le.‘; 5 n\l il r}ﬂ.llh. 1{
Rl . "5

rf_'l'. Lime water.
a6,  Which of the following stateminis 1578

g place in (A) and (B) »

(1} Soil with low water holding capat

i (27 Soil with low water holding capas {ty
 Na4 (3) Soil with low waler holding capacity hi
'-, Ca : ' (4) Gail with low waler holding, capst ity has |
sy 3 &

| s Nal b2 %) frfiatan 7 F48 ;
, CaCOWRNY ! g 2AE AW e

 + HOL - NaQ &Y il ; Loy e BIn &

. : i e,
“aC | L s B #F 7 S H
o sl L BE 4 \ g e #
' ; {( sl — Ll
! L




72

?al‘

1 { “’ 1 “}rﬁ j-l‘ "—L'i

4 enlarged TMage:
Reason (R1):  They form erect an i
Reason (R2):  They have wider field.af ViEW: i
for
(1) (A) s true and only (R1) is co:fnﬂxphmmn (
{‘Dm‘t'-‘t exp]'.anshm for (A)-

@ (A s true and only (R2)
(3) (A) is true but rieither (R1) nm‘{m} are C0
amllmthml]mdmi]mmmcr exp

rrect explanation for (A).

(4) {A) is tru lanations for (A).
15 g

sfimaT (A): Fa94 (
& (R1) : ﬁmﬂ?ﬂﬁﬁﬁﬂﬁﬂﬂﬁﬁqmg'

T (R2) : 41 ST 32 B €1

(1) {a]ﬁa’ftm#aaml}ﬁ[am'mﬁm%u

(2) [ﬁ}ﬂﬁ%wmm}fﬁm}{%m%r

@) tﬁjwtﬁ{m;mm}@%%m]ﬂﬂﬂémaﬁ%l
{4) [Mﬂﬁ?mm}aﬂlm]ﬁgﬁmﬂﬁmﬁl

= e

90. Which of
the following statements is/are tre regarding relative reactivity of mehis o

A
(A) szﬂnmmmemanlrmbutlessreachvemmﬁlumuuum
(B) Sudjumlsmnmmhveﬂmnﬁ-tamumand Calcium.

(€) Aluminjum is more reactive l:l'@*i[
(1) Only (8)

ety el 5 e e 3 S 2 (R ) g
hat |

l

IMPORTANT T (Mathematics

Lites have to do questions a1 o LTI R frowt I

- [T (Social Studies/ Saclal Science).
awm&fw} FT gvr a1 @90 ar at ¥rT - 1 (ur
frarT) a wTT R

PART -lllfﬂT'l = 111

SOCIAL STUDIES /| SOCIAL SGIEH'G

Direction : Answer the following questions by selectiig f
fror : Fresfetan wo % 39¢ 24 % 9T a4

31. Match the following and choose the app:opﬂate option.
A B
(a)  Grihapatis (i) Landless Labourers
(b) ~ Shrenis () Independent farmers
(¢) Adimai (i) Coastal Setlement
(d) Arikamedu (iv) Craft
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@ (@), 0)-6v),0-@ -0 &
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